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M. A. (First Semester)  

EXAMINATION, Dec.-Jan., 2020-21 

ECONOMICS 

Paper Second 

(Macro Economics—I) 

Time : Three Hours ]  [ Maximum Marks : 80 

[ Minimum Pass Marks : 16 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- dqy jk”Vªh; mRikn dh x.kuk dh tkrh gS % 

¼v½ vk; jhfr ls 
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¼c½ O;; jhfr ls 

¼l½ nksuksa jhfr;ksa ls 

¼n½ buesa ls dksbZ ugha 

Gross National Product is measured by : 

(a) Income method 

(b) Expenditure method 

(c) Both of these 

(d) None of these 

2- ;fn fu;kZr  vk;kr ls] rks  

¼v½ GNP = GDP 

¼c½ GNP < GDP 

¼l½ GNP > GDP 

¼n½ buesa ls dksbZ ugha 

If Export < Import, then : 

(a) GNP = GDP 

(b) GNP < GDP 

(c) GNP > GDP 

(d) None of these 

3- vk; ds pØh; izokg ds nks {ks=h; ekWMy ds {ks= gSa % 

¼v½ ?kjsyw {ks= vkSj O;kikfjd {ks= 

¼c½ ?kjsyw {ks= vkSj ljdkj 

¼l½ O;kikfjd {ks= vkSj ljdkj 

¼n½ buesa ls dksbZ ugha 

In two sectoral model of circular flow of income the two 

sectors are : 

(a) Household sector and Business sector 
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(b) Household sector and Government 

(c) Business sector and Government  

(d) None of these 

4- Hkqxrku larqyu ges’kk gksrk gS % 

¼v½ vlarqfyr  

¼c½ larqfyr 

¼l½ _.kkRed 

¼n½ /kukRed 

Balance of payments is always : 

(a) Unbalanced 

(b) Balanced 

(c) Negative 

(d) Positive 

5- ßiwfrZ lnSo viuh ek¡x dk lt̀u djrh gSAÞ dFku gS % 

¼v½ ts- ,e- dhUl dk 

¼c½ ek’kZy dk 

¼l½ ts- ds- esgrk dk 

¼n½ ts- ch- ls dk 

“Supply creates its own demand”, statement is by : 

(a) J. M. Keynes 

(b) Marshall 

(c) J. K. Mehta 

(d) J. B. Say 
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6- dhUl us izHkkoiw.kZ ek¡x dk fl)kUr fn;k % 

¼v½ 1929 esa 

¼c½ 1936 esa 

¼l½ 1971 esa 

¼n½ 1956 esa 

Keynes gave theory of effective demand in : 

(a) 1929 

(b) 1936 

(c) 1971 

(d) 1956 

7- lhekar miHkksx izof̀Ÿk (MPC) Kkr djrs gSa % 

¼v½ 
ΔY

MPC
ΔC

  

¼c½ 
ΔC

MPC
ΔY

  

¼l½ MPC C Y   

¼n½ buesa ls dksbZ ugha 

Marginal Propensity to Consume is measured by : 

(a) 
ΔY

MPC
ΔC

 

(b) 
ΔC

MPC
ΔY

 

(c) MPC C Y  

(d) None of these 

8- dhUl ds fl)kUr esa izHkkoiw.kZ ek¡x fu/kkZj.k esa gksrh gS % 

¼v½ ADF = ASF 

¼c½ ADF < ASF 

¼l½ ADF < ASF 

¼n½ buesa ls dksbZ ugha 



 [ 5 ] E–160 

 P. T. O. 

At the time of determination  of effective demand in 

Keynesian theory : 

(a) ADF = ASF 

(b) ADF > ASF 

(c) ADF < ASF 

(d) None of these 

9- fuEufyf[kr esa dkSu lgh gS \ 

¼v½ MPC – MPS = 1 

¼c½ MPC × MPS = 1 

¼l½ MPC + MPS = 1 

¼n½ buesa ls dksbZ ugha 

Which one of the following is correct ? 

(a) MPC – MPS = 1 

(b) MPC × MPS = 1 

(c) MPC + MPS = 1 

(d) None of these 

10- LFkk;h vk; ifjdYiuk fdlus nh \ 

¼v½ ts- ,e- dhUl 

¼c½ feYVu ÝhMeSu 

¼l½ Mtucjh 

¼n½ ihxw 

Who gives Parmanent Income hypothesis ? 

(a) J. M. Keynes 

(b) Milton Friedman 

(c) Duesanbery 

(d) Pigou 
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11- ÝSadks eksfnfXy;kuh dk lEcU/k gS % 

¼v½ LFkk;h vk; ifjdYiuk ls 

¼c½ iw.kZ vk; ifjdYiuk ls 

¼l½ thou pØ ifjdYiuk ls 

¼n½ buesa ls dksbZ ugha 

Franco Modigliani is related with : 

(a) Permanent Income hypothesis 

(b) Absolute Income hypothesis 

(c) Life Cycle hypothesis 

(d) None of these 

12- iw.kZ vk; ifjdYiuk dk nh?kZdkfyd fo’ys”k.k fd;k % 

¼v½ dhUl us 

¼c½ ihxw us 

¼l½ Mtucjh us 

¼n½ dqtusV~l us 

Long run analysis in Absolute Income hypothesis is given  

by : 

(a) Keynes 

(b) Pigou 

(c) Duesanbery 

(d) Kuznets 

13- 
1

?
1 MPC 

  

¼v½ Rojd 

¼c½ lhekar miHkksx izof̀Ÿk 

¼l½ xq.kd 

¼n½ buesa ls dksbZ ugha 
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1
?

1 MPC
  

(a) Accelerator 

(b) Marginal Propensity to Consume 

(c) Multiplier 

(d) None of these 

14- ;fn MEC > C;kt dh nj ls] rks fofu;ksx ij izHkko gksrk gS % 

¼v½ dksbZ izHkko ugha 

¼c½ vuqdwy 

¼l½ izfrdwy 

¼n½ leku izHkko 

If MEC > rate of intrest, then investment is affected : 

(a) not affected 

(b) positive 

(c) negative 

(d) equal 

15- mPp ‘kfDr eqnzk (high powered money) dk lw= gS % 

¼v½ H = C * R 

¼c½ H = 
C

R
  

¼l½ H = C – R 

¼n½ H = C + R 

Formula of high powered money is : 

(a) H = C * R 

(b) H = 
C

R
  

(c) H = C – R 

(d) H = C + R 
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16- egkxq.kd ¼vf/kxq.kd½ dh /kkj.kk fdlus nh gS \ 

¼v½ dhUl 

¼c½ ihxw 

¼l½ fgDl 

¼n½ ts- ds- esgrk 

Who gives the concept of Super Multiplier ? 

(a) Keynes 

(b) Pigou 

(c) Hicks 

(d) J. K. Mehta 

17- fQ’kj ds fofue; lehdj.k esa % 

¼v½ M + V = P + T 

¼c½ MV = PT 

¼l½ MP = VT 

¼n½ P = MVT 

In Fisher’s exchange equation : 

(a) M + V = P + T 

(b) MV = PT 

(c) MP = VT 

(d) P = MVT 

18- rjyrk vf/keku dks igys iz;ksx fd;k % 

¼v½ dhUl us 

¼c½ ihxw us 

¼l½ fgDl us 

¼n½ ijsVks us 
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Liquidity preference is first used by : 

(a) Keynes 

(b) Pigou 

(c) Hicks 

(d) Pareto 

19- tksf[ke fuokj.k rjyrk vf/keku fl)kUr ds izfriknd Fks % 

¼v½ dhUl 

¼c½ ckeksy 

¼l½ Vksfcu 

¼n½ buesa ls dksbZ ugha 

Risk aversion theory of Liquidity preference invented by : 

(a) Keynes 

(b) Baumol 

(c) Tobin 

(d) None of these 

20- isfVudhu us viuk fl)kUr fn;k % 

¼v½ 1956 esa 

¼c½ 1961 esa 

¼l½ 1970 esa 

¼n½ 1980 esa 

Patinkin gave his theory in : 

(a) 1956 

(b) 1961 

(c) 1970 

(d) 1980 
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(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj 2&3 okD;ksa esa nhft,A 

 Attempt any eight questions in 2-3 sentences. 

1- ldy jk”Vªh; mRikn D;k gS \ 

What is Gross National Product ? 

2- Hkqxrku larqyu dh ifjHkk”kk nhft,A 

Give definition of balance of payment. 

3- C;kt dh nj ls D;k vk’k; gS \ 

What is mean by rate of interest ? 

4- izHkkoiw.kZ ek¡x D;k gS \ 

What is effective demand ? 

5- miHkksx Qyu ls vki D;k le>rs gSa \ 

What do you mean by Consumption Function ? 

6- xq.kd dh ifjHkk”kk nhft,A 

Give definition of multiplier. 

7- thou pØ ifjdYiuk D;k gS \ 

What is life cycle hypothesis ? 

8- izfr O;fDr vk; D;k gS \ 

What is per capita income ? 

9- eqnzk dh ek¡x dks ifjHkkf”kr dhft,A 

Define demand for money. 
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10- eqnzk xq.kd dks crkb,A 

Give money multiplier. 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj 75 ‘kCnksa esa nhft,A 

 Attempt any eight questions in 75 words. 

1- ‘kq) jk”Vªh; mRikn dks Li”V dhft,A 

Clarify Net National Product. 

2- f}{ks=h; vFkZO;oLFkk ds pØh; izokg dks lfp= crkb,A 

Give circular flow of income in two sector economy with the 

help of a figure. 

3- dhUl ds miHkksx ds euksoSKkfud fu;e dh O;k[;k dhft,A 

Explain Keynesian psychological law of consumption. 

4- xq.kd dh fØ;kfof/k crkb,A 

Give working of multiplier. 

5- eqnzk dh iwfrZ dh O;k[;k dhft,A 

Explain supply of money. 

6- lexz ek¡x Qyu dk fp= nhft,A 

Give diagram of aggregate demand function. 

7- fuos’k dh lhekar n{krk dh fp=h; O;k[;k dhft,A 

Explain graphically marginal efficiency of investment. 

8- fofu;ksx dks izksRlkfgr djus ds mik; nhft,A 

Give measures to stimulate investment. 
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9- Rojd dk vkdkj crkb,A 

Give size of accelerator. 

10- LFkkbZ vk; ifjdYiuk ij fVIi.kh dhft,A 

Comment on permanent income hypothesis. 
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(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % fdUgha pkj iz’uksa ds mŸkj nhft,A 

 Answer any four questions. 

1- dSfEczt lehdj.k dh foLrr̀ ppkZ dhft,A 

Discuss Cambridge equation in detail. 

2- fujis{k vk; ifjdYiuk dks Li”V dhft,A 

Clarify absolute income hypothesis. 

3- pØh; izokg dk 4 {ks=h; ekWMy crkb,A 

Give four sectoral model of circular flow. 

4- xq.kd ds fjlko D;k gSa \ 

What are leakages of multiplier ? 

5- eqnzk dh ek¡x ds iSfVudhu ǹf”Vdks.k ij fVIi.kh dhft,A 

Comment on Patinkin approach of demand for money. 
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